ARV
INDUSTRIES

DERNESS,

- ‘ WILDERNESS PRODUCTS
gg;’-_‘,’ i [ JK ADVENTURE RACK
&‘WILDERNESS PRODUCTS™ 2007-2012 4 DOOR

ADVENTURE RACK YAKIMA ADAPTER KIT WITH 58“ BARS PAGE 1 OF 1

PART # 44085

PART LIST

Wi,

2-11/8X.120 X 58" CROSSTUBES 8-5/16 X 1 1/4 CARRIAGE BOLTS
4-11/8X11/2VINYL END COVERS 8 -5/16 X 2 CARRIAGE BOLTS

4 - MOUNTING BRACKETS ( round holes ) 16 - 5/16 FLATWASHERS

8 - MOUNTING SUPPORT BRACKETS ( square holes ) 16 -5/16 NYLON LOCKNUTS

5/16 X 1 1/4 CARRIAGE BOLTS

§ [

! T MOUNTING SUPPORT
m—/ sy e

( square holes)

MOUNTING ! CROSS :
BRACKET ! BAR !
(round holes) !
', : 5/16 FLATWASHER
= o= [5/16 NYLON LOCKNUT
13/4" DIA. ADVENTURE L] ™ /
RACK TUBE l i : ﬁ

:
MOUNTING SUPPORT / |
BRACKET é 5/16 X 2 CARRIAGE BOLT 1 1/8 BLACKVINYL

(square holes) COVER :
i
INSTALLATION INSTRUCTIONS

[ ] SECURE COVER WITH BLACK SILICONE
1- INSTALL MOUNTING BRACKET TO ADVENTURE ( NOT SUPPLIED )

RACK AS SHOWN, LEAVE LOOSE FOR ADJUSTMENT.
2-INSTALL 1 1/8“ DIA. CROSSBAR AS SHOWN, CENTER
CROSSBAR BETWEEN THE MOUNTING BRACKETS,

SLIGHTLEY TIGHTEN TO HOLD IN PLACE.

3- ADJUST THE CROSSBAR SPACING ALONG THE ROOF
RACK SIDE TUBING TO YOUR NEEDS.

4 - AFTER ALL SPACING ADJUSTMENTS ARE FINISHED
TIGHTEN ALL FASTENERS.

11/8 X58” CROSSTUBE

PART # 44085 GARVIN INDUSTRIES 316 MILLAR AVE EL CAJON CA 92020 (619)—440—7415




	Page 1
	Titles
	ga,""" ,© 
	"WILDERNESS PRODUCTS™ 
	4»=1 
	PART # 44085 
	1118XS8"CROSSTUBE I ~ I ~ 
	l' r MOUNTING SUPPORT 



